
1

Manual nr 15016178 QC19 Rev04
Loyds Industri AS  2019-08-16

SMARTFLOOR
VW Caddy 

PP Side Panels
 Installation Manual 

1 SLD = 1 sliding door
2 SLD = 2 sliding doors



2

Recommended torque for screws:
					     4,2mm Selfdrilling:	 3,6 NM 
					     6mm: 			  6 NM
					     8mm: 			  10 NM
					   

M5

6

10, 13 mm

10, 13 mm Torx Bits
TX  20
TX  25
TX  30

Revision Record
Rev nr Date Page Picture Update New Deleted 

steps

Tools

CLICK

01

02

16.10.18

11.12.18

Added 
PreFence 
Ext set

Floor ASSY 
rev

25

5,6,7,8

11,

03 05.06.19 Floor ASSY 1-20 Push-Plug5 & 6

04 16.08.19 56
Screw re-

moved from 
bracket C5

27
Removed 

illustrations 
61 - 64



3

15010560 Kit complete Caddy Short 1SLD

15010561 Kit complete Caddy Short 2SLD

Item Quantity Part Number Description
A 1 15010861 RD Drawer 1000 900 Main Assy
B 1 15010635 FD1 Front Drawer 400-1200 Complete Assy
C 1 15011084 Steel Bracket Set Caddy Short 1SLD
D 1 15011243 Floor Set Caddy Short 1SLD

A

D

B

G

C

C

A 1 15010861 RD Drawer 1000 900 Main Assy
G 1 15010862 FD2 Front Drawer 400-600 Complete Assy
C 1 15011084 Steel Bracket Set Caddy Short 1SLD
H 1 15011244 Floor Set Caddy Short 2SLD

G
H

A



4

15010562 Kit complete Caddy Maxi 1SLD

15010563 Kit complete Caddy Maxi 2SLD

Item Quantity Part Number Description
I 1 15010859 RD Drawer 1000 1200 Main Assy
B 1 15010635 FD1 Front Drawer 400-1200 Complete Assy
J 1 15011086 Steel Bracket Set Caddy Maxi 2SLD
K 1 15011241 Floor Set Caddy Maxi 2SLD
L 1 15011246 Floor Supplement Set for 1SLD Caddy Maxi

Item Quantity Part Number Description
I 1 15010859 RD Drawer 1000 1200 Main Assy
G 1 15010862 FD2 Front Drawer 400-600 Complete Assy
J 1 15011086 Steel Bracket Set Caddy Maxi 2SLD
K 1 15011241 Floor Set Caddy Maxi 2SLD

I

I

B

G

J

J

L

K

G

K



5

15017752 Floor kit Caddy Short 1SLD w insp hatch

15017751 Floor kit Caddy Short 2SLD w insp hatch

Item Quantity Part Number Description
D1 1 15017749 Floor Right Side SF Caddy Short w insp hatch
D2 1 15011096 Floor Left Side Caddy Short 1SLD
D3 1 15011098 U-profile 12mm L=1155
D4 1 15011242 Fitting Kit Floor Set Caddy
D5 1 15017754 Fitting Kit SF Caddy Hatch
A6 1 15010535 Floor cover slide door right PEJ

Item Quantity Part Number Description
D6 1 15016144 Floor Left SF Caddy Short
D1 1 15017749 Floor RIght Side SF Caddy Short w insp hatch
D3 2 15011098 U-profile 12mm L=1155
D4 1 15011242 Fitting Kit Floor Set Caddy
D5 1 15017754 Fitting Kit SF Caddy Inspection Hatch

D4

D4

D2

D3

D1

D6

D5

D5

D3

D1



6

15011246_B Floor Supplement Set for 1SLD Caddy Maxi

15017753 Floor kit SF Caddy Maxi 2SLD w insp hatch

Item Quantity Part Number Description
D7 1 15017750 Floor Right Side SF Caddy Maxi w insp hatch 
D8 1 15016146 Floor Left Side SF Caddy Maxi
D3 2 15011098 U-profile 12mm L=1155
D4 1 15011242 Fitting Kit Floor Set Caddy
D5 1 15017754 Fitting Kit SF Caddy Inspection Hatch

D3
D8

D7

D5

D4

L1

L3.1

L3.2
L2

L3.3

Item Quantity Part Number Description
L1 1 15011245 Left Side Floor Extend Caddy Maxi 1SLD
L2 1 15012301 Supplement Orig Sep 1SLD
L3 1 15011247 Fitting Kit Floor Suppl Set Caddy Maxi 1SLD
L3.1 4 4,2x13 S Platescrew,flath,poz,needle(nål) Black
L3.2 2 4,2x16 FLS Platescrew selfdrilling E45759 Blackw
L3.3 1 36.721004 Window Rubber Profile Sindby   740mm



7

C2

C1

B6

C4

C5

C6 C10

C6

C9
C7

C8

B4
15011084 Steel bracket set Caddy Short

C3

C5

C15

C12

C9
C11

C16

C12

C11

Item Quantity Part Number Description
C1 1 15010917 Bracket Rear Right Caddy ASSY
C2 1 15010918 Bracket Rear Left Caddy ASSY
C3 1 15010922 Bracket Cargo Latch Caddy Rear Left ASSY
C4 1 15010921 Bracket Cargo Latch Caddy Rear Right ASSY
C5 2 15010225 Bracket Stiffener Middle Right T5 w heater ASSY
C6 2 15010644 Bracket Middle Lower Caddy
C7 1 15010919 Bracket Latch Left Front FD Caddy ASSY
C8 1 15010920 Bracket Latch Right Front Caddy ASSY
C9 2 15011036 Distance Profile FD RD Caddy Short
C10 1 15011039 Cover Slide Door Right Rear Caddy ASSY
C11 2 15011032 Bracket Latchcup M8 Multi Left ASSY
C12 2 15011031 Bracket Latchcup M8 Multi Right ASSY
C15 1 15011040 Cover Slide Door Left Rear Caddy ASSY
C16 1 15011031 Profile Connection Front Floors 400

1 15011276 Fitting Kit Steel Bracket Set Caddy Short



8

Item Quantity Part Number Description
C1 1 15010917 Bracket Rear Right Caddy ASSY
C2 1 15010918 Bracket Rear Left Caddy ASSY
C3 1 15010922 Bracket Cargo Latch Caddy Rear Left ASSY
C4 1 15010921 Bracket Cargo Latch Caddy Rear Right ASSY
J1 2 15011095 Bracket Middle Lower Caddy Maxi
J2 2 15010648 Extend Bracket Maxi
C7 1 15010919 Bracket Latch Left Front FD Caddy ASSY
C8 1 15010920 Bracket Latch Right Front Caddy ASSY
C11 2 15011032 Bracket Latchcup M8 Multi Left ASSY
C12 2 15011031 Bracket Latchcup M8 Multi Right ASSY
C5 2 15010225 Bracket Stiffener Middle Right T5 w heater ASSY

C14 1 15011040 Cover Slide Door Left Rear Caddy ASSY
C10 1 15011039 Cover Slide Door Right Rear Caddy ASSY
C16 1 15011031 Profile Connection Front Floors 400

1 15011087 Fitting Kit Steel Bracket Set Caddy Maxi

15011086 Steel bracket set Caddy Maxi

C2

C1

C4

C5

J1

J2

C10

J1

J2 C7

C8

C3

C5

C14

C12

C11

C11

C16

C12



9

E8

E10

E13

E14

E13

E10
E9

E12

E12

E11

E11

E9
E14

15010236 Handle Assy
Item Quantity Part Number Description
E8 1 15009441 Handle Tube 25x15x286
E9 2 15009442 Spacer Ø8,3x18x30 Nylon Black
E10 2 15009443 Spacer Ø8,1x13x6mm Galv
E11 2 15009444 Screw M8x50 Cylinderh Hex
E12 2 8 NMU Mutter M8 Nyloc DIN985
E13 2 8,4x17x2 M8 Washer, DIN 125
E14 2 15009438 End Plug Tube 25x15 Inside

15010236 Handle Assy

15011114 Floor Extension Kit Caddy Original Sep 1SLD

N2

N3

N1

Item Quantity Part Number Description
N1 1 15011249 Floor Extension Caddy O-Sep 1SLD ASSY
N2 1 15011047 Stiffener Bracket Floor Extension ASSY 
N3 1 15011258 Cover Slide Door Right O-Sep ASSY

1 15011252 Fitting Kit Floor Extension O-Sep



10

15011115 Floor Extension Kit Caddy Original Sep 2SLD

Item Quantity Part Number Description
N5 1 15011046 Floor Extension Caddy O-Sep 2SLD ASSY
N2 1 15011047 Stiffener Bracket Floor Extension ASSY 
N3 1 15011258 Cover Slide Door Right O-Sep ASSY
N6 1 15011016     Cover Slide Door Left O-Sep ASSY

1 15011252 Fitting Kit Floor Extension O-Sep

Item Quantity Part Number Description
N7 1 15011254 Floor Extension Caddy L-Sep ASSY
N8 1 15010923 Cover Slide Door Front Right L-Sep ASYM 
N9 1 15011255 Stiffener Bracket Floor L-Sep Ext ASSY
N10 1 15011015    Cover Slide Door Left L-Sep ASSY ASYM

1 15011252 Fitting Kit Floor Extension O-Sep

15011116 Floor Extension Kit Caddy Loyds Asymetric Sep

N9

N10

N8

N7

N6

N3

N5

N2



11

N11

15014594 Floor Extension Kit Caddy PreFence Sep Se

Item Quantity Part Number Description
N5 1 15014597 Floor Extension Caddy PreFence Sep Se 2SLD ASSY
N6 1 15014600 Cover SLD Front Left Side Caddy PreFence Sep ASSY
N3 1 15014602 Cover SLD Front Right Side Caddy PreFence Sep ASSY
N11 1 15014595 Floor Extend Bracket Caddy PreFence 1SLD Se

1 15014613 Fitting Kit Floor Extension PreFence Sep

N6

N3

N5



12

vv Parts List
DESCRIPTIONPART NUMBERQTYITEM

Panel Right Side Caddy Short SF PP15014757 11
Panel Left Caddy Short 1SLD SF PP15014756 12
Panel Slide Door Right Lower1501468013
Panel Side Top Right1501468814
Panel Side Top Left15014687 15
Fitting Kit Panels 1SLD15014692 16

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

Drawing number

Sheet size:

Approved  by LOYDS

Revision

Loyds Industri AS

Creation date Designer / ConstructorProject

Description

SARPSBORG
Approved  by customer
Gen. Tol.: 

ISO 128

15014769 
EGL10.04.2018

A

Loyds MS 001

Caddy 4 2018 No

Side Panel Set SF Caddy 1SLD PP
 

Drafter

A3

Sheet thickness: 
 

Material:
 

Colour:
3278 g  
Weight:

5

4

3

2

1

21-Aug-2018

15014769 Side Panel Set SF Caddy 1SLD PP

Item Quantity Part Number Description
M1 1 15014756 Panel Left Caddy Short 1SLD SF PP
M2 1 15014757 Panel Right Side Caddy Short SF PP

M10 1 15014680 Panel Slide Door Right Lower
M8 1 15014688 Panel Side Top Right
M7 1 15014687 Panel Side Top Left

1 15014692 Fitting Kit Panels 1SLD

M1

M7

M8

M2

M10



13

2

Parts List
DESCRIPTIONPART NUMBERQTYITEM

Panel Right Side Caddy Short SF PP15014757 11
Panel Rear Left Caddy Short 2SLD SF PP15014760 12
Panel Side Top Right1501468813
Panel Side Top Left15014687 14
Panel Slide Door Left Lower15014679 15
Panel Slide Door Right Lower1501468016
Fitting Kit Panels 2SLD1501469417

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

Drawing number

Sheet size:

Approved  by LOYDS

Revision

Loyds Industri AS

Creation date Designer / ConstructorProject

Description

SARPSBORG
Approved  by customer
Gen. Tol.: 

ISO 128

15014800 
EGL10.04.2018

A

Loyds MS 001

Caddy 4 2018 No

Side Panel Set SF Caddy 2SLD PP
 

Drafter

A3

Sheet thickness: 
 

Material:
 

Colour:
2617 g  
Weight:

3

4

6

5

1

2

21-Aug-2018

15014800 Side Panel Set SF Caddy 2SLD PP

Item Quantity Part Number Description
M3 1 15014760 Panel Rear Left Caddy Short 2SLD SF PP
M2 1 15014757 Panel Right Side Caddy Short SF PP
M8 1 15014688 Panel Side Top Right
M7 1 15014687 Panel Side Top Left
M9 1 15014679 Panel Slide Door Left Lower

M10 1 15014680 Panel Slide Door Right Lower
1 15014694 Fitting Kit Panels 2SLD

M3

M2

M7

M8

M9

M10



14

15014801 Side Panel Set SF Caddy Maxi 1SLD PP

Item Quantity Part Number Description
M4 1  15014758 Panel Rear Left Caddy Maxi SF PP
M5 1 15014759 Panel Rear Right Caddy Maxi SF PP

M6 1 15014690 Panel Side Front wo Slide Door
M11 1 15014686 Panel Side Top Left Maxi
M12 1 15014689 Panel Side Top Right Maxi
M10 1 15014680 Panel Slide Door Right Lower

1 15014696 Fitting Kit Panels Maxi 1SLD

M4

M5

M6

6avM10

7avM11

8avM12



15

15014802 Side Panel Set SF Caddy Maxi 2SLD PP

Item Quantity Part Number Description
M4 1 15014758 Panel Rear Left Caddy Maxi SF PP
M5 1 15014759 Panel Rear Right Caddy Maxi SF PP
M9 1 15014679 Panel Slide Door Left Lower

M12 1 15014689 Panel Side Top Right Maxi
M11 1 15014686 Panel Side Top Left Maxi
M10 1 15014680 Panel Slide Door Right Lower

1 15014698 Fitting Kit Panels Maxi 2SLD

M4

M9

M5

M10

M11

M12



L=3300 mm

L= 1200 mm

16

Fitting Kit

F2

F11

F3

F12

F4

F1

F13

F10

F7

F16

F19

F8

F17

F20

F9

F18

F21

F5

F14

F6

F15

15003551
M6x16 TX30 pan (DIN 7985)

15005027
M5 Popnut Hex-body

6,4x18x1.5
Washer Elz

15009568 Screw 4,8x32 Selfdrill 
Counters Torx Elz

15005025  
Screw M5x25 Unb Flathead

15005026  
Screw M5x15 Unb Flathead

15004443
M5x16 TX20 pan A4

5x12 NSS
Poprivet Steel, Black

15005884 Washer 
Latchcup for Ø8

6 NMU 
M6 Self locking nut, DIN 985-8

4,2x16 FL
Selvborr skrue, flathode, elzn

4,2x13 S
Screw needle end black, flath.

8x40 6KS
M8x40 mm Bolt, DIN 933, sort

15001584
Distansehylse D20 d13 h15

8,4x23x2
M8 Stoppskive, DIN 9021

6x70 Delgjenget
Hex-head bolt elzn

36.721004
Window rubber profile 

36.721004
Window rubber profile 

11,3x18x12
Distansehylse B-223, plast

15005497 Latch Cup Black Ø90 
Ø12x15 1000Kp

L=600mm L=740mm

15004713
M8x50 screw Black Elzn



L=3300 mm

17

Fitting Kit

F23 F24

F25

F22

F26 F27

15003895
Panel Clip, beige

15013001 
Snap Cap

15008180
Panel Push Plug, beige

15007018c 
4,2x19 FLS

15004517 
Bracket Panel Front Left  Maxi

15017745
Inspection Hatch SF Caddy Floor



18

1.

F22(x5) M1

LHLH

LH LH

F23(x4)

M1

F6(x5)

Short 1 SLD Short 1 SLD

F22(x3)

M2

3

F23(x2)

M2

F6(x3)

Short 2 SLD Short 2 SLD

F4(x3) F4(x3)

RHRHRH LH2.

3. 4.

5. 6.



19

7.

LH LH

Short

Maxi

Maxi

Maxi

Maxi

Short

F22(x3)

M3

F23(x2)

M3

F6(x3)

8F8F

4

F22(x3)

F23(x3)

M4 M4

F6(x3)

F23(x3)F22(x3)

F6(x3)

M5 M5

RH

RH

RH

RH

8.

9. 10.

11. 12.



20

13. LH LHMaxi 1SLD Maxi 1SLD

F22

M6

M6

5A

6A

F6
F4(x1)

F23(x2)

M8

F23(x2)
F6

M7

F23(x2)
F6

M10

F23(x8)

M9

F23(x8)

LH RHShort Short

RH LH

14.

15. 16.

17. 18.



21

24.

L&R L&R

L&R L&R

Original separator
Original separator

Loyds separator

See picture 25

See picture 25

See picture 25

M12 M11

F23(x3)
F6

F23(x2)
F6

RH LHMaxiMaxi

2

19. 20.

21. 22.

23.



22

Front drawer

Front drawer

Rear drawer

L&R

NB

C12
C11C11

C16

B/G

A / I

x2

L&R

x4 x8

x2

x2

Box

F17

F26

C12

C11

15010236 (ref. page 9) 
1SLD=x2    2SLD=x3

x4F3

F3 x4

Box

C7 / C8

x4F1

F1 x4

Front

25. 26.

27. 28.

29. 30.



23

B ( 1 : 2 )

B

D ( 1 : 4 )

D

D ( 1 : 4 )

D

N2

N5

N1

F5

N5

Original sep. 1 SLD

Original separator

Original separator

Original separator

Original sep. 2 SLD

F1

F1

F1

F1
F1

F1
F1 F1

F1
F1

F1 F1

F1

F1

B / G

RH

31. 32.

33. 34.

35. 36.



24

B ( 1 : 2 )

B

C ( 1 : 2 )

C

Loyds asymetric sep. Loyds asymetric sep.

Loyds asymetric sep. Loyds asymetric sep.

Loyds asymetric sep.

N9

N5

F5

F1 F1

F1

F1

A ( 1 : 2 )

A

F1 x2

L&R

B / G

RH37. 38.

39. 40.

41. 42.



25

Loyds asymetric sep.

L&R

Picture 45/46

L&RShort L&RMaxi

C1

F1x2

F2x2

F1x2

F2x2

LHRH

F1x4

J2

F3x4

F19x2

C9

F3x2

45.  46.

47. 48.

43. 44.



26

F17x4F17x4

F1 x2

F1 x2

B ( 0,40 : 1 )

B

B ( 1 : 3 )

B

A

RH RH

J1
F3x2

F3x2

F3x2

C6

L&R L&RShortMaxi

Box Box

D ( 1 : 2 )

E ( 1 : 2 )
A

D E

B ( 0,40 : 1 )

C ( 1 : 2 )

B

C

LHRH
F1

F1

F1

F1

C5

C5

x2x2

C5

C5

F1

F1
F2

49. 50.

51. 52.

53. 54.



27

D ( 1 : 2 )A

D

LHLH

F1

F1

C3

F2

C ( 1 : 4 )

C

F1

F1

C10

RH RH

C ( 1 : 4 )

C

F1

F1

C14

C ( 1 : 4 )

C

LH 2 SLD LH 2 SLD

55. 56.

57. 58.

59. 60.



28

F1

F1

N3

Original separator LH

N6

Original separator

F1

F1

F1

RH

D2/D6
D1

Short

F1

F1

N8

Loyds asymetric sep. RH LH

N10

Loyds asymetric sep.

F1

F1

61. 62.

63. 64.

65. 66.



29

D7 D8

Maxi

aa

b

a

b

a

See picture 69 & 70

F8

F11

F12
F15

F18

F9

F11
F12

F16

71.		  72.

a

b

F10

67. 68.

69. 70.



30

73. 74.

CLIC
K

x6 1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

Drawing number

Sheet size:

Approved  by LOYDS

Revision

Loyds Industri AS

Creation date Designer / ConstructorProject

Description

SARPSBORG
Approved  by customer
Gen. Tol.: 

ISO 128

15011244 

EGL16.11.2015

A

Loyds MS 001

Smart Floor

Floor Set Caddy Short 2SLD
 

Drafter

A3

Sheet thickness: 
 

Material:
 

Colour:
  
Weight:

D4

F27

75.

F7

x2

RH 76.

77.

1SLDMaxi

L1

L3.3

Mount rubber profile on cover

1SLDMaxi

L1

L3.1
x4

L3.2
x2

L2


